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= E3) 455 4,682 o A99| 5236 109 15| 3,792 99| 1,221 9.9 27.2 96.1| 1,173 9.5 26.1| 1100 7.9 51| 421.8 30.2 19.5
T |lak =z 272| 4,346 o| A 130 4748 90 8| 3741 87 822 6.7 18.3| 100.0 822 6.7 18.3 78.0 6.1 38| 4267 33.6 20.6| 123,205
bZ DD EEE 183 336 0 31 488 19 7 51 12 399 3.2 8.9 88.0 351 238 7.8 32.0 1.7 1.3 4103 22.1 16.8
= P 198| 5415 0 106 5,507 120 13| 4,042 138] 1,194 9.6 26.2 959 1,145 9.2 251| 105.4 75 48| 4200 29.8 19.1
5 |a.X =2 101| 5,031 0 133 4,999 110 9| 3,986 125 769 6.2 16.9| 100.0 769 6.2 16.9 72.0 5.7 35| 4267 33.6 20.6| 124,938
b ZDMNELE 97 384 of &a27 508 10 4 56 13 425 34 9.3 88.5 376 3.0 8.2 335 1.8 1.3 4062 22.0 15.9
= F 286| 5,066 0 1| 5,351 117 9 3858 136 1,231 9.7 26.7 96.4| 1,187 9.4 25.7| 108.4 7.8 50( 4214 30.4 19.4
10 |a. kK =4 158| 4,751 0 13| 4,896 105 5| 3,804 124 858 6.8 18.6| 100.0 858 6.8 18.6 79.3 6.2 38| 4267 33.6 20.6| 126,472
bZDMDELE 128 315 of A12 455 12 4 54 12 373 2.9 8.1 88.2 329 26 7.1 29.1 1.6 1.2| 4077 22.0 16.2
= P 337 5510 0 70( 5,777 134 12| 4242 146 1,243 9.7 26.6 96.1| 1,195 9.4 256| 1082 7.8 50 4227 30.4 19.7
15 |a.K = 232| 5173 0 94| 5311 124 8| 4,187 134 858 6.7 18.4| 100.0 858 6.7 18.4 78.4 6.2 38| 4267 33.6 20.6| 127,619
b ZDMNELE 105 337 of A24 466 10 4 55 12 385 3.0 8.2 87.5 337 2.6 7.2 29.8 1.6 12| 4126 22.1 17.3
= F 376 3,991 of A 46 4413 125 10[ 3,030 83 1,165 9.1 25.0 96.9| 1,129 8.8 242| 1023 7.5 47| 4224 30.9 19.6
20 |a.K =z 262| 3,711 o Ae61| 4034 114 7| 2978 74 861 6.7 18.5| 100.0 861 6.7 185 788 6.2 38| 4267 33.6 206| 127,692
bZ DD EEE 114 280 0 15 379 11 3 52 9 304 2.4 6.5 88.2 268 2.1 5.8 23.5 1.3 09| 4085 22.0 16.4
= F 320| 3,679 ol Aa72] 407 124 10| 2,724 76 1,137 8.9 24.4 96.4| 1,096 8.6 235 99.9 7.2 47| 4241 30.8 19.9
21 |la X g 230 3,390 o A48 3668 115 7| 2655 68 823 6.5 17.7|  100.0 823 6.5 17.7 75.5 59 36| 4267 33.6 20.6| 127,510
b ZDMNELE 90 289 of A24 403 9 3 69 8 314 25 6.7 86.9 273 2.1 5.9 24.4 1.3 1.1 4162 22.2 18.0
= F 317| 3,748 0 30( 4,035 122 10[ 2,696 82 1,125 8.8 24.1 96.2| 1,082 8.4 23.1 98.4 7.1 47| 4252 30.8 20.2
22 lak =4 223| 3,456 0 37| 3,642 113 7| 2639 73 810 6.3 17.3| 1000 810 6.3 17.3 739 5.8 36| 4267 33.6 20.6| 128,057
bZDMDELE 94 292 of A7 393 9 3 57 9 315 25 6.7 86.3 272 2.1 5.8 245 1.3 1.1 4207 22.3 18.9
= F 310| 3,134 o A 137] 3581 115 10] 2,290 66 1,101 8.6 235 96.1 1,058 8.3 226 96.2 7.0 46| 4254 30.7 20.2
23 |la.X =2 219| 2,831 o| A 137 3187 106 7| 2,228 57 789 6.2 16.9| 100.0 789 6.2 16.9 72.0 5.7 35| 4267 33.6 20.6| 127,799
b ZDMNELE 91 303 0 0 394 9 3 62 8 312 24 6.7 86.2 269 2.1 5.8 24.3 1.3 1.1 4217 22.3 19.0
= F 340 3,015 o] A4 3419 119 10[ 2,154 63 1,073 8.4 23.1 96.6| 1,036 8.1 223 94.3 6.8 44| 4235 30.7 19.8
24 |la. K =z 236| 2,727 o & 74 3037 108 7| 2,092 55 775 6.1 16.7| 100.0 775 6.1 16.7 711 5.6 34| 4267 33.6 206| 127,515
bZ DD EEE 104 288 0 10 382 11 3 62 8 298 2.3 6.4 87.6 261 20 5.6 23.2 1.2 1.0/ 4139 22.1 175
=z F 300| 3,038 o A 46 3384 115 9] 2120 63| 1,077 8.5 23.2 96.6| 1,040 8.2 22.4 94.7 6.9 44| 4232 30.7 19.7
25 |a.X = 200| 2,762 o Aas0l 3012 104 6| 2,067 55 780 6.1 16.8| 100.0 780 6.1 16.8 71.6 5.6 35| 4267 33.6 20.6| 127,298
b ZDMDELE 100 276 0 4 372 11 3 53 8 297 2.3 6.4 87.5 260 2.0 5.6 23.1 1.2 10| 4127 22.1 17.2
= F 347 3,102 of A28 3485 110 9] 2215 66 1,085 8.5 23.4 96.6| 1,048 8.2 226 95.5 6.9 44| 4226 30.6 19.6
26 |a.K =z 232| 2828 o A 35 3095 98 6| 2158 57 776 6.1 16.7| 100.0 776 6.1 16.7 71.4 5.6 34| 4267 33.6 20.6| 127,083
bZDMDELE 115 274 0 7 390 12 3 57 9 309 24 6.7 88.0 272 2.1 59 24.1 1.3 1.0/ 4109 22.1 16.9
= P 346| 3511 0 68| 3,789 112 9| 247 75 1,122 8.8 241 96.6| 1,084 8.5 233 98.2 7.1 45| 4215 30.5 19.4
27 |la X = 243| 3,243 0 106| 3,380 102 6| 2413 65 794 6.2 17.1]  100.0 794 6.2 17.1 728 5.7 35| 4267 33.6 20.6| 127,095
b ZDMNELE 103 268 ol A38 409 10 3 58 10 328 26 7.1 88.4 290 2.3 6.2 25.4 1.4 10| 4072 22.0 16.1
= F 290| 3,405 o[ A 115 3810 112 10[ 2,500 7| 1,117 8.8 24.1 96.6| 1,079 8.5 23.3 98.5 7.2 46| 4231 30.7 19.7
28 |la. X =z 238| 3,131 0| A 55 3424 106 7| 2439 63 809 6.4 17.5|  100.0 809 6.4 175 745 5.9 36| 4267 33.6 20.6| 126.933
bZ DD EEE 52 274 0| A60 386 6 3 61 8 308 24 6.6 87.7 270 2.1 5.8 24.0 1.3 1.0 4123 22.1 171
= F 339| 3511 o A 124 3974 81 11| 2,660 74 1,148 9.1 248 96.3| 1,106 8.7 239 1013 7.3 47| 4237 30.7 19.8
29 |a.X = 253| 3,218 o| A 102 3573 81 8| 2,599 64 821 6.5 17.8| 100.0 821 6.5 17.8 75.7 6.0 37| 4267 33.6 20.6| 126.706
b ZDMNELE 86 293 of A2 401 0 3 61 10 327 2.6 7.1 87.2 285 22 6.2 25.6 1.4 1.1 4149 22.2 17.6
= F 280| 3,533 of A 142 3955 83 11| 2,627 7 74{ 1,153 9.1 25.0 96.5| 1,113 8.8 241 1023 7.4 48| 4243 30.8 20.0
30 |a K =z 211| 3,236 o| A 120 3567 83 8| 2562 5 65 844 6.7 18.3| 100.0 844 6.7 18.3 78.0 6.1 38| 4267 338 20.6| 126,443
bZ DD EEE 69 297 0| A22 388 0 3 65 2 9 309 24 6.7 87.1 269 2.1 5.8 24.3 1.3 1.1] 41638 22.2 18.0
P F 303| 3,645 of A 108 4056 84 11| 2719 3 76 1,163 9.2 25.2 96.6] 1,123 8.9 243 96.5 75 50 396.6 30.8 20.6
5% [aX g 218 3,359 o| A 106 3683 84 8| 2,663 3 67 858 6.8 18.6| 100.0 858 6.8 18.6 738 6.2 40| 397.2 33.3 21.4| 126,167
b ZDMNELE 85 286 0 A2 373 0 3 56 0 9 305 24 6.6 86.9 265 2.1 5.7 22.6 1.3 10| 3946 22.7 17.9
= F 290 3411 of A 142 3843 84 10] 2512 0 72{ 1,165 9.2 25.3 96.7| 1,126 8.9 24.5 97.4 7.6 51 398.1 31.0 20.9
2 |lak =z 219| 3,139 0| A 140 3498 84 8| 2455 0 63 888 7.0 19.3| 1000 888 7.0 19.3 76.6 6.4 41| 3970 33.2 21.4| 126,146
bZ DD EEE 71 272 0 A2 345 0 2 57 0 9 271 22 6.0 85.9 238 1.9 5.2 20.8 1.2 1.0 4024 22.8 19.1
= F 312| 3,464 o Aa121] 3897 80 10] 2613 0 72( 1,122 8.9 245 96.8] 1,086 8.7 23.7 93.9 7.3 49| 3959 30.9 205
3 |laX =2 247| 3,224 o A 93l 3564 80 8| 2571 0 64 841 6.7 18.4| 100.0 841 6.7 18.4 728 6.1 39 3964 33.3 21.3| 125,502
)b Z DD EIE 65 240 of A28 333 0 2 42 0 8 281 2.2 6.1 87.2 245 2.0 5.3 21.1 1.2 09| 394.1 22.6 17.7
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